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— 7213 TRw KD 2929 Hw 19T KOO 929 INT
For n''9 taught; a robber of many is not called a robber.

OVERVIEW

The >¥7771 (in support of their view that in the case of X2 if P> WA 12 TR X2
13, the rule is that 172 AN PROXM 7X) cited a X072 taught by 1", that one who
steals from many is not considered a thief. *¥X 27 interprets this ¥n**72 to mean that
(he 1s a thief, however) he cannot repay what he stole. Mmoo clarifies what the
Y7971 and "WX 17 mean.

— 1191 PRI PRY
The meaning of 1713 1w X2 0221 YW 1713 is that we do not remove the stolen item

from his possession (but not that it is not considered stealing) -
— AN TV 99N Nt Y9999

And this X071 is discussing a case where each one says, ‘it is my father’s’; thus
supporting the view of *¥y7771 that by *max >w 9mX 777 and a third party took it away, the ruling is
177 IR PROXID PR, just like the ruling of this Xn*>72 -

- zj’N’:m:\ PN INAN ONNT Lo1N %33 HWNNm Y1a XY

But the Xn>72 is not discussing a case where he stole from [one of] five people
[and he does not remember from whom he stole], for in that situation, why should

we not remove the item from him (and award it to the five people; since it certainly belonged
to one of them). M0N0 concluded the view of *y7771 —

nooIN continues with the view of >wx 27:
— 9INNY NYN Na 5‘,7115 NY NN 2297 920) 'YT91IN MY YUN 29

And >wR 29 argues with the sy7971 (that by X27IX we are 177 PX°X1 [and rule
3"X73, among the two original litigants]), and X"7 maintains that 1'% did not

intend to be lenient on the 1713, but rather to be more severe with the 191, and the

meaning of 1713 7AW WY is -
— 2NN TNN DY N OOYWIYW 1Y 19T INVYY 1190 HNNX NAYNA 9D NDT

That it is not sufficient by making one reparation, like it is by other 2153
(where they are required to repay [only] the amount they stole, however here it is

! Each of the five claims that he was the victim and the money is owed to him.

% In the case of X17X, where we are not certain that it belongs to either of the litigants (and in fact [one of them] is
certainly a yw1), therefore we are 17 PRX12 1PR; however here where we are certain that it belonged to one of them, we
should have the 7213 return it [and have the five divide it (amongst those who claim it is theirs) see later footnote # 4].
See n'"n1 for an alternate explanation.
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insufficient that he merely return the item, unless he returns the 575513 to each one -
— AWNNM DT 29999 (3,57 97 xnp xaa) DINY HHNNA NAYPY ’a295

Like ¥'"1 ruled in 233y »man ms;3 and 1" is discussing a case where he stole
from [one of] five people.

In summation; the >¥77771 maintain that (in the case of *max >w MR 71) if 72 P2 P 12 TR X2
the rule is Y7°n MR PRI PX; and it is based on 1" who states 1213 W K7 0°27 SW 1213, meaning
that Y7o 7NIX PR¥XM PPR; and it refers to this case (of >MaR 5w X 171). However WX 27 maintains
that in the case of *MaR 5w X 71, the rule is 17 MR 7°X°XM, and the ruling of 1" that W R
121 is referring to Awnnn 913 and 1213 MW XY means that he must return the 7%°13 to each one
individually (five full payments). The *y7771 agree that by mwnnn 21 that 171 1R proxm.?

NN cites the o"aw"n ™o
— 5T 999 Y19 1NT NIY NINY NTHA 9919V 1IN 199997 U 09092

And the 0"221 explained’ that "~ was discussing a storekeeper who sold with

an improper measure, so he does not know from who he stole -

—*awny J1%1 8Y 799
And therefore (since he does not know from whom he stole), it is impossible to
return the 7171 to the rightful owner.

Mmoo anticipates a difficulty with 2"aw=7 o:
— (%0397 12) P18 PPN D92 1359INTI 992K 599K 12 MYYY 9199 29 Y N

And even though he can use the stolen money for public works, as the X713
states in 797X 1’8 299, (so why is he not like a ‘regular’ 19713)?

mooin replies:
1NN SNDYYN NAYN INY IND

This solution of using it for M2X 37X is not a satisfying return to those from whom
he stole.

? The xn»72 cited there states; [TIX1] TR 99 72°T3 DOWW TV 77729 270 NROXM TIT W KD MK ¥,

* However, the *y71m need not maintain that he must pay X"%2%, but rather they can either agree with 11970 "1 who
rules P2nom1 7°12 721 I, or like ¥"; however "wX 17 who maintains that 1"1 (when he says 1213 70w X?) is
referring to mwnnn 13, must interpret it according to ¥"1 because according to v"1 he is like any other 771,

% sxm 71"7 (at the very end). From our 0" it appears that "7 may (also) be discussing >Max »w K 77, and 7Hw XY
1273 means that he cannot make a 7%y 72w (see X"Wn).

® According to the 2"awA the meaning of 1973 7w WY is that it cannot be returned at all (unlike a ‘regular’ 213 who
can make good); according to n9on the phrase 1213 72w R? means he must return many-fold (unlike a regular 1713,
who makes a single payment).

7 The XM there cites a X012 which states, ©°27 927¥ 0772 WY 913 N7 YT IR 1A We assume that those who were
robbed will benefit from these 0°27 °>7%. Seemingly here too the *1117 can make amends by using the stolen money
for @27 07X,

¥ We can never be certain that the loss was actually paid up (in full).
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SUMMARY

n"3 can be referring either to >MaR W K 17 (the view of *¥7771) where it need
not be returned, or to 7wnnn 713 (the view of *wX 27), where he pays all five. Doing
712 °>1% with stolen money is (not) considered a (Xn>"5yn) 7awn.

THINKING IT OVER
1. What does >¥X 21 rule in our case where 72 P11 PIWT 12 71X X2 (according to
Moo and/or the 2"aw")?

2. Why do nmpoin and the o"awA respectively disagree with each other concerning
the ruling of 1" (according to *wx 27) that o1 AW &Y 0277 11 91?2’

3. Does the statement 1213 7w X2 2°277 12 213, lends itself more to be interpreted
according to “¥7771 or WX 217 (either according to M50IN or the 2"2aw")?

? See X"wmn.
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